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Abstract Summary: - The following note determines the stresses and deflections
that will occur in a support bracket and whether or not those values fall within

allowable ranges. The block, which weighs roughly 10 tons, is to be moved using
a forklift. '

Applicable Codes:



Support Bracket

The design of the support bracket consists of the following parts:
2: 17 x2” x 12” bars

1: 1”7 x 37 x 5.5” bar

1: 1”7 x 37 x 10” bar

2:1”x 3”7 x 23” bars

3” x 3” x 0.25” Structural steel tubing

L3x3x%x 120" LG

All parts are assumed to be ASTM A36 structural steel. The structural steel tubing is bolted to
 the angle. The 17’x 2”x 12” bar is bolted to the steel block using %”-10 bolts (A307 assumed).
The 17 x 3” x 5.5”/10” bars are welded to the 1” x 3” x 23" bars using %4” fillet welds (E70xx

weld metal assumed). They are welded to the 1” x 2” x 12” bars using ¥2” fillet welds.

When the block is being transported on the forklift, it is assumed that the largest angle that would
occur relative to the mast of the forklift is 10°. The values in this note are calculated using the
resultant forces assuming that this is the case.
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